[image: ][image: ]
image1.jpeg
A

S
@ ucs118. uoBOED  UCTBED
JC8118 JCB8050 JC7560
o =2 WE PVD % B PVDcoated R 5t (mm) Dimensions
Cat. No. Tolerance < ucsi18 [ 2 JCBOSO [ ) JC7560 A ils B re
& wnmu0B0720ZER-PM M ° ® ° 14 | 766 | 194 2

®: JRAME S Standerd stock itsma —E10F 3% 10inseris por cass.

OAHEEY, FERFAGHE RN LFMDHREERSHNTE,
Each grade shows different mark around the hole for tool proof.




image2.jpeg
/A)IJET.

QAR

Facemill type

OFig. 1 HmA7 OFig.2 FHRAT OFig.3 HHRTL

Through coolant hole Without coolant hole Through coolant hole
e
od ¢d

s
200 M10

od al LI
[ -

o |
E

od R2
Do M’
¢Dc |
WENESERE
e Sat bolt built into the cuttar body
DI BB —MIETIL, EREETNE), ANARTERNER, BETERER,
Coarse pitch type achieved low cutting force & smooth chip ejection.
Q 714K Body
* R~ (mm) Dimensions MR
= & 5 |EF Eﬁ} TR REE %5: inserts
No. of eSS i
§. CatNo. |Stock pccildDe| Lf |¢Db| ¢d (ddi| a | b | £ iy Weight| F& @
KS-3050R| ® | 3 | 50 | 55| 40 (22225 9.6(8.4 | 5 | 19 |M10x1.5x25" 04| 3
EXSKS-4050R| ® | 4 | 50 | 55 | 40 (22225 9.6|8.4 | 5 | 19 |M10x1.5x25" 04| 3
%[EXSKS-4063R| ® | 4 | 63 | 50 | 48 (22225 17 8.4 | 5 | 20 Mg | RARRR| g5 4
L (JIsiE ) WNMU090720
o® EXSKS-5063R| @ 5 (63 | 50 | 48 |22.225 17 (84| 5 | 20 M10 Head capsecrew| 0.5 | 1 ZER-PM
$%|ExsxsgoaoR| @ | 6 |80 | 70| 65 |31.75 26 [12.7] 8 | 32| wmie |13 1
1
EXSKS-TIODR| ® | 7 |100| 70 | 70 (31.75 26 [12.7| 8 | 32 M16 20| 1
EXSKS-8I125R| ® | 8 |125| 70 | 100|38.1| 32 |[15.9| 10| 35 |m20x2.5x45* 39| 1
EXSKS-O160R| @ | O |160| 63 |100(50.8) 75 | 19 | 11| 43 | w24 |[WEREKER 45| 5 | mfpars
Exsas30s0022) ® | 3 |50 | 55| 40 | 22 | 9.6[10.4] 6.3| 19 |m10x1.5x25¥ 0.4| 3 | jhkEan
EXSKS4050R22) ® | 4 |50 | 55| 40 | 22 | 9.6(10.4| 6.3 19 |M10xt.5x25% 03| 3 ﬁ
EXSKS4052R22) ® | 4 |52 | 50| 40| 22 | 17 |[10.4] 6.3| 20 M10 0.4 1
o JEXSES4063R22) ® | 4 |63 | 50| 48 | 22 | 17 |10.4| 6.3| 20 M10 0.5 1 CSW-513H
=
Egmls-snul-zz ® | 5 |63|50| 48| 22|17 [10.4]| 6.3| 20 M0 | mAmER| 0.5 | 1
; (JISsse )
RDMSHNZ © | 5 | 63 | 50| 48 | 27| 20 [124] 7 | 22 MBATIN s | 0.5 | 1 whath
EXSKS5006R27 @ | 5 | 66 | 50 | 48 | 27 | 20 [12.4| 7 | 22 |M12x1.75x30% Ussndind | g 5 | 4
EXSKSG080R27 @ | 6 |80 | 55 | 65 | 27 | 37 [12.4| 7 | 22 |M12x1.75x30% 0.9 1 )6
EXSKSTI00R32| ® | 7 [100| 70 | 85 | 32 | 26 [14.4| 8 | 32 | Mi6x2xd5* 1.7 1
EXSKS4125R40| @ | 8 [125| 70 | 100| 40 | 32 |16.4| 9 | 35 |M20x2.5x45* 2.7 1 A20
EASKS9160R40| @ | O [160| 55 |100| 40 | 85 [16.4| 9 | 35| wxp [VERRREEI 34|
®: FREFH  Smndard stockitems
#) 1. FEAGGRHOTEN S, HBTHE.
uml|2;|| ﬁﬂﬂd&&;ﬁm{:ﬁ!&. B A S0 P 77 R S A TNERERST REHIE(N . m)
R utars o o
i+ ki haas Sinr o oqulpped whth he et bolt becauss of the spaciad ol size. Clamp screw Recommended torque
Excapt for thees cutter bodies, plesse usa tha set balt aquipped with srbor.
CSW-513H 55





